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1. The OMR Answer Sheet is inside this Test Booklet.
When you are directed to open the Test Booklet,
take out the Answer Sheet and fill in the particulars
carefully with blue/black ball point pen only,

2. The test is of two-and-half hours duration and
consists of 150 questions. There is wo negative marking.

3. Use Blue/Black Ball Point Pen only for writing
particulars on this page/darkening responses in the
Answer Sheet. The candidate should remain careful
in handling the question paper and in darkenin g the
responses on the answer sheet. Another booklet set
will not be given.

4. Also ensure that your Test Booklet Serial No. and
Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immediately
report the matter to the Invigilator for replacement
of both the Test Booklet and the Answer Sheet.
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1T - I/PART - I
9[99 t§ RIEM9re/ CHILD DEVELOPMENT AND PEDAGOGY

AT - A 7ot @ a7 37 & fw gad afya [A#eq giaT )

Direction : Answer the following questions by selecting the most appropriate option.

1. frgrEen § qe & gEarT a1 3 A
HEETF &
(1) AR
(2) T e
(3) ST HT
(4) TEHES HTET BT

2. Th % P GHEIETT &g FHATH &
FuE T frefoRed § @ S-S

3. UF AN & g 3 fqug ® fr=fofaa
% ¥ 77T FUH BT E 7

(1) g9 st eftrm g ofakda
2 21

(2) G R B )

(3) UA% HIT / UF A JSI A ¢

(4) GAT @ L A TG B 2

4. TOfFRT Rern @ ad B

(1) ST Rr=aret # g FE-H
4 QU FHE

(2) AT et & v wer-aat
¥ QU & |

(3) AfFa Rr=arett & fafdre faamear
T QU

(4) RIS Brae # R W STgRYE
ST QU AT |
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To cooperate the adolescent it 1is
essential to

(1) Inspire

(2) Indicate his mistakes

(8) Criticise him

(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of the following is a wrong

statement about emotions of an

adolescent ?

(1) Emotional expressions are
modified by learning.

(2) Emotions are permanent.

3

Every emotion is accompanied by
a feeling.

(4) Emotions are aroused by external
stimuli.

Inclusive education means

(1) Meeting individual differences in
general classroom.

Meeting individual differences in
different classroom.

Meeting individual differences in
special schools.

3)

4

Meeting individual differences in
home based instruction.

P.T. O
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(1) s

(2) 9rar-far &

(3) wiit-afeEr =

(4) TaAreEl

B8R § At g & v w=v & R
fpar s wear 2, AR arenmgs

(1) -8R g1 # a1 H1 |

(2) @ IF R SR R

(3) Wer Al @ FeiE g

(4) A-Laaral & A )

e foma afe § 4 dvgan ok
PN R w0 T g D, o ¥
(1) 9o ST T e |

(2) SPE arew, R, T o)
Frepe fHeprer |
(3) FB IG FA M 0T FHT |

(4) gictear #i faftEt @1 e &
s ol et B BRT R

e F qaray &y 2
(1) TH=iE () ST
(3) USTai=E  (4) [T

fFrefafed & § f9-ar Rroivraer A
A e &1 o q@er 787 8 7

(1) ¥ 94 T & T dbd s
Eﬁ:ﬂ' :

(2 faulid R & ofq erepdor am
3) TEh |l & il FH A

(4) fafdre st § fa@r e
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively

inculcated among the students when
teacher

(1) Frequently talks about values.

(2) Himself practices them.

(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in

developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.
(4) thinking ébout ways of reacting.
Best method of dealing with adolescent
by parents and teachers is
(1) Autocratic
(3) Democratic (4) Restrictive

(2) Permissive

Which of the following is nof a
characteristic of social development in
adolescence ?

(1) Active member of their peer
group

(2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests
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(3) T R

@) oof T we

TIOT YERATT T gHad @

(1) g% e |
(2) TEl % fo ferae |

(3) W& g (Fa) G A

(4) TRE TOET FE 9

‘Haq SR AWE qAHF  (CCE) @
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(1) 39 aH B THAR FOGHET
FHE |

(2) T & qdl el 1 Gedih B

(3) &aT B & S B GediHT B |

(4) I B B GUE H GAiHA BT |

Frefefed & & #9-@ go®

%l R (Jraan) 787 @ ?

(1) femn

(2) e

3) fagrsan

(4)

aferm gfewe &1 ad ®
(1) 9% & FFeR 8 B9 g 9iEa |

EINE

@) R i fareor et & ofteds
(3) UIEEAR] & GRS |

(4) WEFEERy H T B
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10.

11.

12,

13.

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

N
(2)

Speaking accurately
Writing  without  committing
mistakes '

3
(4)

Continuous and
Evaluation (CCE) aims to evaluate

Listening message properly
Doing mathematical calculations

Comprehensive

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the

teacher.

(3)

Recognization of the subject-

matter.

)

Completion of content.

P, T.0.
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(1) a3 & 99 & g7
2) JemEEer F AvE
(3) Frelraer 3 anH
(4) TIEHEET B AN
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Frefefed & & #F-a smam swgw
TET R ?

(1) I Tt & e e = |

(2) IugE Fau IR ARl Suee w0
W =R |

() % ffeTa (daa) F¢ 3 =
(4) aﬁﬁmaﬁaﬁma@m

Pt & @y, P9y wy § oruEi™
fredt & @y a1 @ 9wy w= oRe
TR ?

(1) STrEHTH IIH

(2) SIS IIRTT

(3) Hufed I

(4) amest Iurm

SINCIREZ MG A iU e
e et 2

(1) 9% & TS BHE §

(2) IF B IS [HE §
(3) IF B ARE R §
(4) 96 F Tigpios ey §
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15.

16‘

17.

18.

Differentiation of emotions takes
place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence
(4) During adulthood

Which of the following provision is
not suitable to meet individual

differences among learners ?

(1) Their abilities should be assessed.

(2) Adeqtiate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary.

Worl;.ing with adolescents,
particularly maladjusted one, which is
not appropriate ?

(1) Critical approach
(2) Democratic approach
(3) Collective approach
(4) Ideal approach

Heredity plays most important role in
the

(1) Emotional development of the
child

(2) Social development of the child
(3) Physical development of the child

(4) Cultural development of the child
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(1) 398 STUEE a0 @ F FErEa
forerett 21

(2) WEFEE] H T=d AR H HEd
Pt B 1

(3) URHERg H W ddH § THANM H
Herar e § 1

(4) THY 9T I S A B |

T g & qdeen # Feftad §
q HI-81 v 787 2 7

(1) REeEa (2) awged
(3) s (4) R

i wear-wa @ Fefaeg § 4
-8 e & ?

(1) B &R W@ @ A &,
Frepd frepern ofit oo fepdt &t

qaT F
(2 T g, FEdiE R O 2

(3) TS OMUFNE TE BET B
TIFFART T 2|

(4) BF ‘FE' IUT B qAIA £ |

frefafgg & § @d9-a1 Afrm &
qFeEE &N Sfawied sy @ wrefis
frm 2 7

(1) 9esg & f7aH
(2) =E & |
(3) oTefEReT & Fraw
(4) wght & faw
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19.

20.

21.

22,

(9

A

The
learning is must for a good teacher,

knowledge of principles of

because

(1) It helps in maintaining discipline.

(2) It helps to make content
interesting.
(3) It helps to understand the content

by simple methods.

It saves time.

4)

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(8) Validity (4) Subjectivity

Which of the
characteristics of

the
constructivist

following is

classroom ?

(1) Students
draws conclusions and compare

design experiments,

their findings.
(2) Knowledge is objective, universal
and complete.
(3) Teacher transmits authoritative
knowledge to students.
Students look for
answer.

the 'right'

Which of the following is the primary

law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

2.T.0,
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T S P Goradhal B @1 e @,
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R #1 WX FHR 2, 98 e §

(1) =1 PFFH FT=R

(2) ST JafRTEH 31X

(3) I =X

(4) 999 g JafE oY

q8 ANF AFTE g9 S Rl Faer

B AT FH, FRRE FE qw &9
W@ B 999 B 2, Fean &

(1) el (2) R

(3) R (4) AT
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(1) gfs @R (1.Q.) & 2

2) AMrF Tfer A.Q.) it B

(3) wiaf afey (E.Q.) & 21

(4) ot @t (S.Q.) it B

feepre e R | UiT # a0 SRR
B 8, o @ 98 Rsra Feanr

(1) faued & wparedia

(2) SiFEfeRa (=T & aBt A R)
(3) M= ¥ fafare

(4) R
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25.

26.

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that
arouses, directs
behaviour is called as

(1) Interest (2) Opinion
(3) Attitude (4) Motivation

and maintains

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific

(4) Cephalo Caudal

principle of
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M X ACTEERRT 3 & arer e g
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(1) e 9vem

(2) & SO

(3) I SR

(4) ST 9T ar@ 4om

afrmEat 3fed SUM 3 weEy §
Frefefad & @ o F99 777 & a6 ©

(1) T8 Afepmeal @ Jradnell, st
3R Afrm 9lt 1 =9 T g

(2) T& FAYY, IFENHT AR G B

et I 97 o 2|

(3) T& FATEF W SFHEA H
WY [ § adm 21

(4) T STIHAST-AATH, FHE-HH,
queg-AAEE 99 genei-aa
Srdr it ST R B

4 Bl B gEr T Far o
dfgf o = & FEER H A
Fed € ?

(1) STEHHHRAT

(2) G

(3) ITEHT

(4) 9=

(9)

28.

29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation

(2) Extrinsic motivation

(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation
Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's
capabilities, and
learning styles.

capacities

It stresses the
enquiry,
investigation.
3) It
knowledge to the learner by the
teacher.

(2)

importance of
observation and

emphasises transmitting

(4)

It uses methods like experiential
learning, problem solving, concept
mapping and creative writing.

A child's attitude 'T do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence

(3) Denial

(4) Retrogression

Level-3/173
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. 31

32.

33.

34.

35.

Y& [ B gea
(1) feafe = feg + i

(2) TEMER = 87 + 91X
(3) it = 9 + &

(4) W = & + Ty

‘aAvita’ & ¥ - g oY

1 = 2) @

(3) & (4) o

‘98 o8 9T ewan R T oA - @ Rm
TF 9= YA

(1) ST

(2) M

(3) ST

(4) ST

S AR o i A fem w@E e -
% e o g ®

(1) e

(2) stirfE

(3) Sifteraferer

(4) T

Fe1 o=l & @ #9-a1 9= @@’ R ?
(1) m™

(2) faemm

(3) @R

(4) Gt
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36.
3 9 BY @l F &

37.

- 38.

39.

“afy g o @ F f R A s

(1) SE~ B

@ SFTR

(3) WY it

(4) ot S

o o arfeEtted F= & m & g
A - % R g o= ®

1) FAg

(2)

(3) a9 T

(4) Fga
ﬁ?ﬂs@ﬁmqﬁﬁﬁﬁwﬁaw
w9 &, ofg fwf wRa w@m R
TR ? _

(1) T

(2) FHaet
(3) @&
(4) @IHR

e o= § A gom & OwEe gu e
q FETgam e ?

(1) Feredt

(2) dret

(3) T

(4) T
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(1) T o

(2) |EFE 9

(3) HE qd

(4) dRYg qa

AT B gfe A U g AR 7
(1) =g

(2) WEArES Gl

(3) fagmyor

(4) &

PH-G1 I=F ‘G F I 78T 8 7
(1) FEe

(2) ffm@Ema

(3) @M

(4) fafarm

AT = F FET AN &

1 TE+7

@) T& + A

3) 6 + 3@

(4) M +73

AfigEy g F TEE Yy e
(1) arl + 39a%

@) AM + g9

(3) A +

(4) AT + 9T

Level-3/173

(11)

45.

46.

47.

48.

49.

R & ‘@ @i a & g § R
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(4) HeETToT-3TE
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(1) Fecfrar aeged

(2) T FGE

(3) TSt YEY

(4) =gl e

a7 @ T, v, awe - A B
R @&t ard @1 =Ee Fg

(1) JEME % M & e

@ T, 99, TF F B F\R YW '
(3) STIELE G @ & U

(4) Teel & FHER H BE A

IJuqt e 9= &
1) g

(2) g
(3) T®

(4) Ry

orgE fae & g
(1) -1

(2) IHT-THEHd
(3) IHte-fies
(4) M-I
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(2) S
(3) ST
@) Rl
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(1) o7& .
(2) &=

(3) F

(4) ST

e o= & Farg g @ wan 98
g ® 7

(1) FEER

(2) wEmg

(3) @renf=

(4) TS

I = ;T gfee @ g
(1)

2 g

(3) e

(4) AT
?ﬂﬁﬁﬁfﬂﬁﬂfﬁzﬁrm 7&T gam
.

(1) THmvEE

(2) R

(3) YR

(4) weTE

Level-3/173

50‘

51.

52.

53.

54.

(12)

55. U7 Al A 9% Bifew

(1) ZaHigs
(2) #iH®

(3) HiEfei
(4) 9ToHTRE

[AGST : Frafaree e @ TEET 3 9T SR
98 7 797 (797 T 56 [ 60) F FT HoT -

TG 4 WO 3 WEeH o o &)y
aH A ofRFaE o e 9% fRd @w
SEHET S T2d B UF WX W A W
g 9 o # % RRd @ wew g &
iz whe € ot g &K W At ‘ongfe’ ¥
T F 5O UEE H OEle @ ogfe § Jmy ¥
AR oF T smyfrE e B FEr Iy qen
P TE U 2

IRAE 799 ¥ WOU & A df §9eg
e & oy '

ap

ifer wieast # Fwm TEEl @
foter Sufeel & & & T o B AR awm
F e A 4| ER @l 7 N gw A 9w
9o ZFaen & 0y B el ¥ wg a9 9
A o F P ARE S W & Ry
e €Y % w4 ¥ 9 o oK meE
e 3 ghefvs e @& 9 ansifie
foem <o P Mo 9= @39 Ay @ ©
9| 9 URIEEH o § H gen A o
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F fewar a9 T YR FAr & Rew 9 &
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qreome. R g8 e guiom eq e o
AT @ B

Tl 78 9 & % odia @ 3B aww
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56. WIET |l &l faQrer 2
(1) 9 WIER
(2) WU fady
(3) WU F WY IRadH
(4) aft foew Taq ¥

57. TeH g& e & ¢
() BEH TEE &
(i) WErdM d%Ed &
(iii) g7 e &
(iv) gite faugs afEeaar &
Sfaa I faeed 1 g ¢
@) () T Gv)
(2) (i) T (iv)
(3) @ (iii)
(4) Faa (i)

58. WG I ToTias JUMel @ Srgard faar

(1) (2) gafEr 3
@ FEN A (@) a=E

59. et & syaref @
(1) 3@
2) forar
(3) &rE
(4) wiewr He+

60. TWE=AmT ARG difes e §
(1) ey
(2) 99U F I
(3) I H FER § G FHIAT
(4) et A Frg
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HIT - 111/ PART - 111

ST - 11 (3 ASH)/LANGUAGE - IT (ENGLISH)
Direction :  Answer the following questions by selecting the most appropriate option.

61.

62.

63'

Choose the correct passive form of
the verb in bracket in the given

sentence :

[ suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given ;

Copi......... = Plentiful

(1) ous

(2) some

(3) ose

(4) ful

Level-3/173

64.

65’

66.

1 don't enjoy going to the dentist.

The word 'going' in the above

sentence is a/an

(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the

park.
(2) Mother told us not to go to the
park. ‘
(3) Mother said us not to go to the

park.
(4) Mother said to us to not to go to

the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67.

68.

69.
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Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/173
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A

Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70.

71.

72.

(1) My brother is the student in
Mayo College.

(2) My brother is student of Mayo

College.

(3) My brother is a student in the

Mayo College.

(4) My brother is a student in Mayo

College.

(1)

Neither of them were present

there.

2

Neither of them was present

there.

(3) Neither of them present there.

(4)

Neither of them are present

there.

The roses smell sweet.

(1)
(2

The roses smell sweetly.

3)

The roses are smelling sweetly.

4

The roses are sweetly smelling.

P.T. 0
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(1) You certainly did not ought to do
it

(2) You certainly ought not to have

done it.

(3) You certainly did not ought to

have done it.

(4) You certainly ought not to have

been done it.

(1) Who was the book given to ?

(2) Who the book was given to ?

(3)

The book was given to who ?

(4) Whom was the book given to ?

Choose  the correct phonetic

transcription of the word 'Locate’
(1) Nuket/

(2) /okeit/

(3)- Nou'keit/

(4) /Nouket/

Level-3/173
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76. Choose the correct direct speech of

7.

78.

the given reported speech :

He said I'd better go because it was late.

(1) He said, "You'd better go because
it's late."

(2) He said, "I'd better go because it
was late."

(3) He said, "You'd better be gone
because it was late."

(4) He said, "You'd better go because
it was late."

Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician
(4) Pidiatrician

In which of the following sentences do

we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.
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79.

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said 1

am too young.

(8) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions
by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/173

Which of the following sentences is .

(17)

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ighorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
unbiased freedom of mind which is
necessary to its receiving and giving their
due weight to casual

ordinary and

impressions,
81. Common sense is a rare and enviable
quality because
(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P.T.O.
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83.

84,

85.
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What is not a requisite of common
sense ?

(1) the wutter absence of all

pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.

(2) Common sense requires the
utmost simplicity and sincerity.

(8) Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

(4) Common sense destroys the
native simplicity and warps and
trammels the freedom of mind.

Fill in the blank with the most
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the
seven’ ......cocceeenes

(1) Notions (2) Sciences
(3) Talents  (4) Wits

Which is not a synonym of the word
'pedant' ?

(1) dogmatist

(2) formalist

(8) perfectionist

(4) down-to-earth

(18)

Direction : (@. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

86. ........... child should learn to read and
write.
(1) Al (2) Every
(8) Whole (4) Both

87. Can I ask your ........... , do you think
TV violence is harmful ?
(1) opinion (2) favour
(3) question (4) advice

88. Where is my wallet ? I left it .............
the kitchen table.
(1) at (2) in

(3) on (4) by

89. Take some medicine and the pain will

s :
(1) back (2) off
'(3) out (4) away

90. The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/173
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(19) ‘ A
HIT -IV/PART -1V

& R8T/ PHYSICAL EDUCATION
R : Fefirga 7o gy @7 ke gag e s g

-Direction : Answer the following questions by selecting the most appropriate option.

91. F=ifefed & & #9-@ & oa-FfF 91. Which one of the following is not the
T &7 part of Hydrotherapy ?
(1) S99 &= (1) Whirlpool Bath
(2) I M (2) Contrast Bath
(3) =T EH (3) Wax Bath
(4) wrareRd (4) Cryotherapy
92. wriR® Hww F dEW wEY @ 92. Learning of physical skills is
2 concerned with
(1) HsHHE A | (1) Cognitive learning
(2) HETHSF AT F (2) Affective learning
(3) wex ST | (3) Motor learning -
(4) woff fomeg we & (4) All options are right
93. fFg fF-oT9e gafd § g 9 & 93. In which knock-out type tournament
AT A FT HIGT fAear & 7 loser team play again ?
(1) T fs-smee gsfy § . (1) Single knock-out type tournament
(2) =99 AP-3T3T Ysig o (2) Double knock-out type tournament
(3) I qrEee qafa | (3) Bagnal Wild type tournament
(4) AfF-oT3e-HH AT Yaa o (4) Knock-out-cum league tournament
94. INE @R # FH | FH-TAT FF 94. Which of the following factors does
gifad 787 &ar ? not affect physical fitness ?
(1) & AT g I _ (1) Sound sleep and rest
(2) Hfe A (2) Balanced Diet
(3) Wit erwame (3) Daily Exercise
(4) wET (4) Reading

Level-3/173 P.T.O.
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gl & gL § BaE # aqd
A= R e & 5@ FXd 50 g8 W

gﬁt{ :
g1 gE-I
@

() FIEQS A

(b) FEaT M (i) siftmaw fe

OEEES (iii) FTEH

(d) ISz FEAM  (iv) faepies R
(v) S

&e:
(a)
(1) (i)
(2) (@i

(b) (c)
v) @
W) @
(3) (i) (v) @ @)
(4) G @) ) W

T # gt @ Pk s 3 fo
T A

(1) STH AR FHN ARG g

(2) 2E F FR ITEX 8% H &N

3) gev et ‘Rie-or’

(1) BerdfE CEiE

I AN B YW AR B9 B @87 HH
g

(1) 39 - 999 - SEe - 9roTEH

©Q) FE9 -39 - rEs - 9o

(3) HET - UTEM - 39 - fEH

(4) WA - e - A - 3

gd $H Al # e § wduew U
[

(1) e
(2) EEgEA
(3) FerEEd
(4) THEA

(d)
- (i)
@iv)
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95.

96.

97.

98.

Match List-I with List-II and select
the correct answer using the codes
given below :

List-I List-II

(a) Fartlek Running (1) Speed
(b) Stretching Exercise (1) Maximum
strength

(c) Sprint Runs (ii1) Endurance

(d) Plyometric Exercise (iv) Explosive

strength
(v) Flexibility

Codes :
(a) b © @
(1) (iii) v O G
(2) @) v @O @
(3) (i) v) @ )
(4) (1) @) @) ()
Appropriate exercise to develop

abdomen muscles is

(1) Bend and reach paws exercise
(2) Chin ups the bar

(3) ‘Sit-ups’ with folded knees

(4) Callisthenics exercise

The first four aspect of Ashtang Yoga
has the following correct sequence

(1) Yam - Niyam - Asana - Pranayam
(2) Niyam - Yam - Asana - Pranayam
(3) Asana - Pranayam - Yam - Niyam
(4) Pranayam - Asana - Niyam - Yam
The first step in the treatment of
sports injuries is

(1) Cryotherapy

(2) Hydrotherapy

(3) Electrotherapy

(4) Thermotherapy
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104.

105.
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Aifera wiEash Fef Reug 2 ?
(1) dig 3 Frea am

(2) TY F IF AT F
(3) g &

(4) W3 I 9

T AP — 2012 ¥ AT A FW
fpe e et ?
(1) 4
®3) 6

(2) 2
4 7

TS B FA ATg & B

(1) 2-3eX

(2) 6-8 TN

(3) 4.5-5eT

(4) 9 fae o
SfReFooT 8 BT & I & 7
(1) tfsard (2) A

(3) URFRTT (4) PreTETH
Ve A= FH AN B B

(1) drcfEe & (2) faq g
(3) Fwa ¥ (4) GiFedw &

gﬂq%ﬂﬂwaﬁm(aﬂm)agﬁ%ﬂw
(1) Fad 9

(2) Faa T

(3) Fae A

(4) I q1 T

HEURET & 39 TEY H ga o iR
@ i e T R @

(1) ggamzord

(2) TRTifE

(8) Wiz

(4) wifre
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99.

100.

101.

102.

103.

104.

105.

Soleus.muscle is located in

(1) Lower leg

(2) Forearm

(3) Trunk

(4) Upper leg

How many medals did India won in
London Olympics — 2012 ?

(1) 4 (2) 2
(3) 6 4) 7

The total air capacity of lung is
(1)  2-3 litre

(2) 6-8 litre

(3) 4.5-5 litre

(4) All options are wrong

What type of tissue is bone marrow ?
(1) Adipose
(3) Areolar

(2) Connective
(4) Cellular

'Let' word is used in
(1) Volleyball (2) Table Tennis

~ (3) Korfball (4) Softball
First class lever is capable of
magnifying

(1) Only force
(2) Only speed
(3) Only strength

) (4) Force and speed both

Name the type of muscles which
contract when the body is in motion

(1) Neutralizers
(2) Antagonists
(3) Stabilizers

(4) Agonist

P.T.0.
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. UEE A9 F ‘e o
(1) @& & A&
(2) 91 W & oqdl
(3) ST W g
(4) 9 F g

i fen ol fRwm @ @E=m @y
-1 & 7

(1) Tmiaest # e
(2) smife fae

(3) @l & faewrE

(4) WS g
‘Srza’ wfad BT &
(1) PR |

@ T a

(3) oF=9E @

(4) BHI A

gagE # w0 A & gAEeE A
fererepT AT R T ® 7

(1) iy fafeer &

(2) GURICTH AW H

(3) ARG (sfafe)

(4) EEZERG H

g0 Al & X (Iier) § 8§
(1) 7 U gfees & = F ey

(2) YR JA1 9feieE & 9" § 99
(3) YR T § & o9 A Hiau®
(4) g2 oW STur & 2

AT Ferar @1 FROT §
(1) aATAEReT & FHROT

(2) M B F

(3) 91 T qAET F BT
(4) TENT % P
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106.

107.

108.

109.

110.

111.

In the ancient Greece 'Apollo’ was
(1) God of Sea

(2) God of Healing

(3) God of Fire

(4) God of Water

Which is the common objective of
Education and Physical Education ?

(1) Neuromuscular development
(2) Physical development

(3) Development of sports

(4) Mental development

'Bile' is secreted by
(1) Liver

(2) Kidney

(3) Pancreas

(4) Lungs

Rehabilitation of sports injuries is
done using

(1) Physiotherapy

(2) Corrective exercise
(3) Cryotherapy

(4) Hydrotherapy

Second class lever has

(1) Fulerum is in between force and
resistance

Force is in between fulcrum and
resistance

Resistance is in between fulcrum
and force

It is without fulcrum

2
(3)
4

Individual differences are due to
(1)
(2
(3)

Environmental Impact
Heredity Impact
Heredity
Impact
Community Impact

and Environmental

(4)
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frfefad #ee ©w fEr Fivm

(i) 999 imd o9 Rel § omafa
Rl

(i) 999 AF (SAF) @9 o/ § SR

gl
ST P
(1) (i) @& 21
(2) ()3T i) A T
(3) () e &, WY (ii) T B
(@) (i) & B, g (@) T B

dicfiare § fow & S 9 & a3
(1) T w4 B 2

(2) UH B1Y P Iferar AT A E

(3) AT el i Iferal WA At B
(4) 3 et B G 1 yAeT B

99T I g8 +ff Feq
(1) &1 foemge fafy
2) fafire g9 fafy
(3) st St ergsiTHG
(4) woft e o &

HeA & IO 8
(1) 390719 | 450 I

(2) 396 A 450 IH
(3) 39679 A 453 TN
(4) 39879 | 453 U

FEAfead T F fewer fFFe ded §
AT & 7

(1) @&
(2) faemgs :
(3) @ 7 faeege )

(4) T foepeT o B
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112.

113.

114.

115.

116.

Consider the following statements :

(i) Ist Asian games were held at
Delhi.

(ii)) Ist SAF games were held at
Dhaka.

In the above statements

(1) (i1) is true.

(2) (i) and (ii) both are true.
(3) (i) is true but (ii) is false.
(4) (ii) is true but (i) is false.

In Volleyball for overhead pass
(1) Head is used

(2) Fingers of one hand are used
(3) Fingers of both hands are used
(4) Palm of both hands are used

BOD-POD is also known as

(1) Air displacement plethysmography
(2) Specific gravity method

(3) Dual energy absorptionmetry

(4) All options are wrong

The weight of Football is
(1) 390 gms to 450 gms
(2) 396 gms to 450 gms

(3) 396 gms to 453 gms

(4) 398 gms to 453 gms

Kinematics analyse the motion in
term of

(1) Acceleration
(2) Displacement

(3) Both Acceleration
Displacement

and

(4) All options are wrong
P.T. Q.
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‘FrEHTg e # da off Fed §
(1) 9 0 FR I &l @

2) T FA

(3) F TF AR FHl &

(4) TR 08 FH &

o g e aa @ g € 0
(1) FE (2) Heaw

(3) TEAfed  (4) il
‘Wire-39 W TEHE B

(1) HARS Juqe A |

(2) & U B H

(3) T qoM H

(4) FEEE 09 HOA °F dW e
TR |

Acigs F T8 W U S-S
3 g § B gu e e @
(1) gFEr i g

(2) gFEeTa § AEEr

(3) TS HearT

(4) ST B GA-AE

gl & gE-I O BEE e qu

4 RA ge & WA A g FEl I
ﬂﬁ-q.

g1 -1
(a) & & (i) TS
(b) BIdY & (id) BT
OEEC R (iii) e
(d) fras 2@t (iv) Tea
c:

(a) (b) ¢ @
(1) @) (iv) @ (iii)
(2) (i) @) @@ @)
3 @ (111) (iv) (@
4) @ (iii) i  @v)

Level-3/173

(24)

117.

118.

119.

120.

121.

‘Kyphosis’ deformity is also called
(1) Hollow back |

(2) Round back

3) Lateral back

(4) Back curve

Krishna Poonia is related to

(1) Kabaddi (2) Football

(3) Athletic (4) Volleyball
'Lead-up game' helps

(1)
(2)
(3)
4

To provide recreation
To provide skill
To improve co-ordination

To provide
improves skill

recreation and

The five interlinked rings of five

different colours on the Olympic Flag
reflects

(1) The unity of the world

(2) The brotherhood among mankind
(3) The international co-operation

(4) The sporting spirit of man

Match List-I with List-II and select
the correct answer using the codes
given below :

List-I List-II
(a) Long Bone (1) Wrist
(b) Short Bone (ii) Shoulder
(c) Flat Bone (iii) Tibia
(d) Sesamoid Bone (iv) Patella
Codes :

(a) (b) @ (@
(1) (i) (iv) @ (iii)
(2 @) @) i (@)
3) @) (iii) iv) ()
4) @) (i) (@)

(1ii)
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G B O G R o

g7
(2) TEEw

(1) GrE
(3) ARI (4) TFFE

T8 o W g 1 SUER § 7

(1) AW P SFT & 99 o
(2) A< I I P FAET I8 B
(3) % ¥ IR FHT

(4) R A S T

9 S P FgE THF el A B 7

(1) ZGERAE  (2) oMeEsERE
(3) el (4) e

R qu 'R refafea @a faert
99 e g gEteg € °

(1) gaterE

(2) SfRF St
3) I st
(4) AR

FE A H ‘AT B ol Brew ofw R
g ?
(1) 5%
(3) 3 3%

(2) 4 3%
(4) 2 3F
RIS oTea &

(1) 9Mg T &

(2) TE I H
(3) 9miftes @y @

(4) s #=
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122,

123.

124.

125.

126.

127,

A

Which of the following is not a
'playing surface' ?

(2) Astroturf
(4) Teraflex

(1) Polygrass
(3) Cybax

In case of fracture the immediate care
s

(1)
(2

Take the patient to the doctor

Stop the movement of injured
area

Give ice treatment

(3)
(4)

Antitetanus injection may given

John Dewey is referred to as the
father of

(1) Pragmatism (2) Idealism

(3) Realism (4) Naturalism

Schiller and Speancer are associated
with one of the following theories of

play

(1) Anticipation
(2) Surplus energy
(3) Recapitulation
(4) Recreation

How many points are given for 'lona’

in Kabaddi game ?
(1) 5 points (2) 4 points

(3) 3 points (4) 2 points

Kinesiology is a study of
(1) Human Motion

(2) Motor Movements
(3) Physical Fitness

(4) Anthropology

P.T.O.
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Gy T S Y ST S & 7

(1) @ REms

2) = wRa Irf

(3) @ W@aH

(4) "ol geser

gl & ORI PBEm X a

A= R gz & wER #9 gU g8t S
g1 g1

(a) Efl (i) Jad F9

®) FefreT (i) 3w #T

(c) FeaTa (iii) JI FT

(d) f (iv) TTeEr @

fE' b
(@ () () (d)

1 @ i) (i) ()

(2) Gi) @  Gv) (i)

3) @Gv) (i) @) (i1)

(4) Gv) @) @) (ii1)

g F FH-A dEEE 9= TA R
S E 7

(1) F9F

(2) g
3) T

(4) ReF
i frer @1 @ B

(1) @« & BFE

(2) @eF F GuR

3) & g

(4) afFE & T e
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129.

130.

131.

Who is known as the 'Father of Yoga' ?
(1) Swami Shivananda

(2) Rishi Mahesh Yogi

(3) Swami Swatam Ram

(4) Maharshi Patanjali

Match List-I with List-II and select
the correct answer using the codes
given below :

List-I List-I1
(a) Hockey (i) Rover's Cup
(b) Badminton (i1) Davis Cup
(c) Football (iii) Uber Cup
(d) Tennis (iv) Rangaswami Cup
Codes :

@ b © (d)
M @ 6@ G 6w
(2 @) @  Gv) (i)
3) @(v) Gi) @) (1)
4 @Gv) @ @ (iii)

Which technical term is involved in
game of Hockey ?

(1) Injector

(2) Putting

(3) Let

(4) Stick

The objective of Physical Education
is

(1) Development of sports

(2) Improvement of fitness

(3) Longevity

(4) Wholesome
personality

development  of
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TW@WWWW

(1) FHH

(2) THHIEHREA

(3) RIS RS
(4) 9t faeq g &

qRE @ e 81w gEE @
Fed &

(1) IR

(2) Hreprerr

(3) THETH

(4 T faepeq o €

age P drar g

(1) 9% F 93 IR W

(2) I8 B AP FaE W

(3) & & THIT W

(4) 9% F T AU TN T |

ToT-Ferfear @1 ot &
(1) & § SR
(2) U A IFER
(3) 9 ¥ IWER
(4) T § I[ER

g # Al §

(1) SR @ e
(2) T

(3) femm

(4) =97 Frw

‘Arorard orrE’ BN ad F oo R
w7

(1) 1984
(3) 1983

(2) 1985
(4) 1986
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133.

134.

135.

136.

137.

A

A compound that promotes tissue
building is

(1) Caffeine

(2) Amphetamine

(3) Anabolic steroid

(4) All options are wrong

The smallest functional unit of

muscle fibre is
(1) Sarcomere
(2) Sarcolemma
(3) Sarcoplasm

(4) All options are wrong

Equilibrium depends on

(1) Wider base of the object

(2) More height of the object

(3) Light weight of the object

(4) Narrow base and light weight of

the object
Hydrotherapy mean
(1) Therapy with waves
(2) Therapy with water
(3) Therapy with oil
(4) Therapy with heat

Pranayam mean

(1) Discipline of the senses
(2) Concentration

(3) Meditation

(4) Respiratory Regulation

In which year 'Dronacharya Award'
was instituted ?

(1) 1984
(3) 1983

(2) 1985
(4) 1986

P.T.O.
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138. X H @il afedl @1 @ 2
(1) ared
(2) G &
(3) WAt & F FIAT
(4) wiguslt 9EeE @ eRae o

139. angfy difers GoaAT @1 @8 HH g

() @ da F AR
(i) I

(iii) A% @R & forg @ A
(iv) 1 Sfaaa # deEn

% - .

1 ® @ Gv) @)
(2 Gv) ) @@ @)
@ @ @  (Gv) . (i)
4 © @ @) (@)

140. sEaw FARE weusd fras oge &

fore St & ?
(1) el g
(2) S F MR

(3) g H A
(4) SrEl (991) @1 s

141. 7T & drav fram & 9z f Fed §
(1) e @ Frm
(2) Tidafs @1 faH
(3) P ol ufafear & fram
(4) Wi # FrEm
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138.

139.

140.

141.

Function of long bones in the body is
(1) To give strength

(2) To give protection

(3) To act as lever

(4) To provide surface for muscle
attachment

Arrange sequential  order of
constructing frequency table :

(1) Width of class interval

(i1) Range

(ii1) Tally mark for each score

(iv) Number of class interval

Codes :

1 @ G @Gv) G

(2 vy ) @ @)

@ @ O Gv) G

@ @ @) G 3Gv)

Biceps femoris muscles is the prime
mover of

(1) Elbow flexion

(2) Thigh flexion

(3) Knee flexion

(4) Dorsi flexion

Third law of motion is also called
(1) Law of inertia

(2) Law of acceleration

(3) Law of action and reaction

(4) Law of speed
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R § oiffdioy uRaeq & &l &
Ted § 9% & H9 § gsai

(1) ufeel, s, &, e, el
(2) =8, 3, Cfeaat, ored, e
3) 2fF, e, omed, o, e
(4) 3FF, ofEela, =fe, o, ol
daR F g IR &

(1) EErliss Em &

(2) STEHERNS ™M &

(3) TEEFEACE AT F

(4) FRATSH AR H

TS e Uoditar § i
TE 59 9P B & ?

(1) 19 10 (2) 39 15

(3) 49 15 4 13 15

P-4 o & § XWRe  awr
TS ot uaeT e & 7

(1) Frea® '

(2) ST SiRreyor

(3) TG AT

(4) dreRd giSTeqor

G FHG B’ oA § T R
(1) wrEg T & |

(2) "erra ¥

(3) THEY

(4) arrga §

Level-3/173

(29)

142,

143.
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146.

A

Identify the route of the oxygen
transport in the body from earlier to
later

(1) Alveole, Trachea, Blood, Heart,
Artery

Blood, Trachea, Alveole, Artery,
Heart

Trachea, Alveole, Artery, Heart,
Blood

Trachea, Alveole, Blood, Heart,
Artery

)
3

(4)

Pushing against wall is an example
of

(1) Isometric exercise
(2) Isotonic exercise

(3) Isokinetic exercise
(4) Eccentric exercise

How are the vest numbered in
International Basketball Competition ?

(1) 1to10 (2) 3to15
(3) 4to15 (4) 1to 15
Which training method utilizes

aerobic and anaerobic energy ?
(1) Fartlek

(2) Interval training

(3) Continuous running

(4) Strength training

"Yogah Karmasu Kaushalam" is a
definition of Yoga, given in

(1) Bhagwatgeeta
(2) Mahabharata
(3) Ramayana
(4) Yoga Sutra

P T0L
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el (ATE) F HE T 8 7

(1) T8 o= SigTaNe § 9% ¢ |

(2) & TUU ¥ A9-FaN gem ¥ weed
gl

(3) FE ATH AETERASA B YT B

W e R |

(4) q&8 oT=d IIEd ordfHed # A
ERER

aeiat @ gfe deHl @ o waiw
diear & o B

(1) 687 109w ¥

(2 13¥ 199 |

(3) 197 259 A

(4) 25 919 § 9T H

EEGIES G
(1) "rRARg"

2) Bfg

(3) Tgfeaw AT
(4) ST S
400 Wex e A3 F oifow amem §
A ¥@r @ g8 ®
(1) 45 HieX

(2) 35 T

(3) 40 WX

(4) 42 "X

(30)

147.

148.

149.

150.

What is the importance of wellness ?
(1) It helps to lead a quality life.

(2) It helps to extend co-operation to
others.

(3) It helps to satisfy your need.

(4) Tt helps to inculcate good habits.

The growth of girls is more rapid than
boys in

(1)
(2)
(3)
4

6 to 10 years
13 to 19 years
19 to 25 years

above 25 years
Largest muscle is

(1) Sartorious

(2) Hamstring

(3) CGluteous maximus

(4) Lattissimas dorsi

The distance between last hurdle and
finishing line in 400 meters hurdle
race 18

(1) 45 meters
(2) 35 meters
(3) 40 meters
(4) 42 meters

Level-3/173
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Tl @ SR, St uEe # FuiRa @El @ @/ e
dfer @rge 49 ¥ qoiaar @ren v g o 5 AR
framar T §

O e O &

ERT W SR TEd ;E e, Ay SR oard
@ B e g @ Rd §

v ® ©® @
X e @ Surer WEl B AR 20§ Al ST IR T

HIET ST |
- Hr gen gRa®r § 3w weE & fag & T @l

&7
STTE R E PN |

3

. gl 9T DI OMR STR TS W B 3ifhd HY| o

IR dfpa B SR qGeM B WA 0D
(ahg Tege) @y g 2

9% vE 3 fo Ry v AR RAewdl § @ i@ e

@ fors OMR STR U9% W 39 U& ga & & 0 e
Mot /T dfct @ige 49 A W | TP 9% SR 3Afhd H
P 41¢ SN qgoll A8 O qHaT 2 |

qﬂmgﬁﬂm/wmﬁf&qmmﬁmeﬁﬂﬁ
ada q wiord o7 # ford |

aeff B wden Bfd/@e § yaw wE @ afaRan e
YR &) eIEr, gfid a1 evatead orTe @ afi,
UoRR, - geggie SuEeer a1 Rl IR geR
# GETl BT o AH A1 SUdNT B @ i e B
vhgs gR gB 9 W yas sl s e @
et o) femard |

B oplerd W Udee @ Ry oAl & fam i
argelt AT 3 A BIS | '

PRI qde® 1 A9l STy gF@ 2y faur vd winl-
W_WHETUW%QWW uden el el
BT | gfe Rl apeft 3 gl AR Efoi-us o) ERmR
T @ g8 WA e R 9EN 9w use e
drern & SR ¥ ¢ WA P AT AT ST |
OMR s 73 # /I gy Al sy
e g1 7 gow orafar grr ard B @ 3
AT Al 81 e w1 (e e
& @ oy [ wrE) we a3 @ amEg oy on
W # ArEr 7 o 957 o g a7 § §ga

gt / Ao URaerd &1 ST affa 1
e Bt § amEeor @ fog angeft Raxlrer § &
wfpar / Ren-frde 3 ars & wi Fgat vd el @
oy sy W | A @ 9 HHAT BT Bl
ard @ frmi w@ [ & 3ER &8N |

el rerd § wdEm gRaEr AR TR TG B DY AN
FAT A W | _

ol W= B R, orell @e /g BisH A @d ST
UG TE—REE B Iaeg Wi S | ol o | g
e gReTHr B A T TP |
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19.

20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e ® ®

The answer will be treated wrong, if it is marked, as
given below :

© ® © @

If you fill more than one circle it will be treated as a
Wwrong answer.

. Rough work should be done 6nly in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any, circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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